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lt;div&gt;There are 9 squares involved with the 7, so 480&quot;�9=471 other squa

res. These other squares contain the 92 other mines. So the number of grids with

 a 7 at a particular spot is 8(47192). That is out of a total of &lt;span&gt;(48) Tj T*

BT /F1 12 Tf 50 600 Td (0 choose 99) different grids&lt;/span&gt;.&lt;/div&gt;&lt;/div&gt;&lt;/div&gt;&l
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an&gt;&lt;div&gt;&lt;span&gt;Probability of getting a 7 in Minesweeper - Math St

ack Exchange&lt;/span&gt;&lt;/div&gt;&lt;/span&gt;&lt;span&gt;&lt;div&gt;math.st

ackexchange  : questions  : probability-of-getting-a-7-in-mines...&lt;/div&gt;&l
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v&gt;&lt;div&gt;&lt;div&gt;&lt;div&gt;&lt;div&gt;&lt;div&gt;&lt;div&gt;We have 4

92556=125244 ways for an easy grid to have an 8 somewhere. Out of the 1.88 trill

ion total easy grids, this gives a probability of &lt;span&gt;about 610&quot;�8&

lt;/span&gt;. So, very rare indeed!&lt;/div&gt;&lt;/div&gt;&lt;/div&gt;&lt;/div&
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lt;div&gt;&lt;span&gt;probability - How rare is it to get aR$8$ in minesweeper? 


